
 

 

Answer on Question #52641 – Math – Trigonometry 

Question: 

What is the actual value of arcsin (-15/17) + arcsin (-30/36) . Use arcsin x + arcsin y formula. 

Solution: 

𝑎𝑟𝑐𝑠𝑖𝑛𝑥 + 𝑎𝑟𝑐𝑠𝑖𝑛𝑦 =

=

[
 
 
 
 𝑎𝑟𝑐𝑠𝑖𝑛 (𝑥√1 − 𝑦2 + 𝑦√1 − 𝑥2) , 𝑖𝑓 𝑥𝑦 ≤ 0 𝑜𝑟 𝑥2 + 𝑦2 ≤ 1,

𝜋 − 𝑎𝑟𝑐𝑠𝑖𝑛 (𝑥√1 − 𝑦2 + 𝑦√1 − 𝑥2) , 𝑖𝑓 𝑥 > 0, 𝑦 > 0 𝑎𝑛𝑑 𝑥2 + 𝑦2 > 1,

−𝜋 − 𝑎𝑟𝑐𝑠𝑖𝑛 (𝑥√1 − 𝑦2 + 𝑦√1 − 𝑥2) , 𝑖𝑓 𝑥 < 0, 𝑦 < 0 𝑎𝑛𝑑  𝑥2 + 𝑦2 > 1.

 

 Because 𝑥 = −
15

17
< 0, 𝑦 = −

30

36
< 0  and 

 𝑥2 + 𝑦2 = (−
15

17
)
2

+ (−
30

36
)
2

=
15325

10404
≈ 1.473 > 1, then we apply  

𝑎𝑟𝑐𝑠𝑖𝑛 𝑥 +  𝑎𝑟𝑐𝑠𝑖𝑛 𝑦 =  −𝜋 − 𝑎𝑟𝑐𝑠𝑖𝑛 (𝑥√1 − 𝑦2 +  𝑦√1 − 𝑥2) =

= −𝜋 − 𝑎𝑟𝑐𝑠𝑖𝑛

(

 (−
15

17
)√1 − (−

30

36
)
2

+ (−
30

36
)√1 − (−

15

17
)
2

)

 =

= −𝜋 − 𝑎𝑟𝑐𝑠𝑖𝑛 (−
240 + 90√11

17 ∗ 36
) = −π − 1.075643, that is,

approximately  − 𝟐𝟒𝟏. 𝟔𝟑° . 
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